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Number Signature of
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Time : 2 Hours T

Total Marks : 120

Note : Bef |
wlore answering the questions, read carefully the instructions given on the OMR sheet.

ﬂ‘ﬁ.'? A b et e - "
ey BRe Moo Swods OMR morws Sst St ROWRTRe PO Shuod.

SECTION—I : MATHEMATICS

D3 ’
1. The HCF of a“b”c and ab?c, where a, b and ¢ are prime numbers, is

a, b Twolaiy ¢ wiond | e oy P wond n .-: Do abzc ?.':r::qasu s R R

(1) a?b3e? (2) a?h?e? (31 ab2c (4) a?b’c

&

2. If x? + y? = 6xy, then 2log(x + y) =

x% 4 yz = Gxy wond 2log(x + y) =
(1) legx +logy+ 3log2 (2] logx +logy+2log3
. (3) logx+logy+log?2 (4) logx +log y+6log2

3. The relation of a+(b+c¢)=(a+b)+cis

B+ (b +c) = (a+b)+cenasd 350 oxdE D Jobkrny SrDned?

: {1] commutative law (2) associative law
DBB0 GO BPSY o
{3) distributive law (4) None
it S Scsie wh ey
F o
%.0-1010010001 ......... 000 ... 1 is
0-1010010001......... 000..... 1 v
(1) a rational (2) an irrational (3) an integer (4) MNone
. wEtclal Sows T sorion o UG Segy 08 o
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- 6. 1{ Ac B and Be G, then An(BUC) =
" Ac Basoas Be Coad An(BUO) |
A 2 B 3) C 4y o

1.“&-[:;:1”_22‘.:511.1]%#-
Awix[xe H.!ixi?lmnﬂ-
(1) ILA4) (2) 123456} (3 1234567 ¥ 13 4,59

8. If A = [Prime numbers less than 20}, B = (Whole numbers less than 10! then (A - B)n(B A) =
A= [20 =, 002 o Ao Segnyw), B={10 Xp 052 No POTOTA, iy (A-Byn(B-A)=

(n o );{u (3) A 4 B

9. If two zeros of the polynomial x? + x? - 9x99%re 23 and 3, then U8 third zero 1s
3 o x? - Ox - 0wt BOUSSS -3 B0 3 wRs e DS U EIURD TN W
(1 -1 2) 1 3y -9 4) 9

10.

‘lhﬁbo\i figure shows the graph of f(x) = ax? + bx + ¢. Whicli of thelfollowing is t‘ﬂt‘;l‘l!{‘.l?
LA /
"amnﬂ-u’ + b+ ¢ s oo ATl o0 e DO 10007

() a<0 b>0and ¢>0 (2) a<0, b<Oand c>0
a<0 b>02080c>0 a<0 b<O:Ec>0

(3) a<0, b<Oand c<0 4) a>0, b>0and c<0
a<0 b<032Swe<O a>0 b>05080e<c0

SPACE FOR R WORK / ctsaod foumelolds Joow
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11. If one root of the polynomial f(x) = 5x< + 13x + k ia reciprocal of the other, then the value

12.

13.

14,

15.

of kK is
£1x) = 5x7 ¢ 13X + k o oTuEd @Y, 13 Sarcio 3687 Srewd Kk vasd k Sos
(1} © (2) S (3) 1/6 (4 6

The value of x which satisfies the equation 2x - (4 - x) = S-xis

2x - {4 - X) = 5~ X BOIePY BT x Juw

(1) 45 (2) 3 (3) 225 (4) O5

The value of k for which the system of equations 3x + Y= 1 and (2k - 1)x +(k =1y =2k + |
is inconsistent, 1s

3;;+H-~l‘:.a¢mtﬂk—l|x*[k—llyr2&41uhuﬂﬂcﬁ::&ﬂtﬁﬂﬂm~b}ﬁta

(m 1 2 O 3) 9 (4) 2

If a pair of linear equations in two variables is consistent, then the lines represented by the
two equations are

Doty BooRoE'w s BBy Fhusveits Ao, ob Bed 3G TID IASI0w?

(1) intersecting (2) parallel
podotoituy AEPDT

(3) intersecting or coincident (4) always coincident
solotoShassy 3o Digleomw Sigons

If twice the son’s age in ycars 18 added to the father's age, the sum is 70. But if twice the
father's age is added to the son's age, the sum is 95. Then the age of the son is

BomDen HERA SRR COY Dof Taly BOSE muﬁmmmwmmﬁﬂ
2Ny BEONT 05 L. Cunts BN iy ?

(1) 13 (2) 20 (31 15 @ 14
————— =
SPACE FOR ROUGH WORK / 205528 Suronotind et : : :




16. Solve : 99x + 101y = 499, 101x + 99y = 501
99x + 101y = 499 b 101x + 99y = 501 e RRosTetLn MO,

(m (-3 =2 2) (&9 (3) (L 4) 4 (3 2)
If-JE*:"'E-
a a b a b
- - —— 3 - i -
(1 J;*JE (2) ji*ﬂ (3) g (4) None (25 %)
18. The product of the roots of v3x? - 6x + 93 = 0 is
ﬂll-h+m:ﬂﬂmml;wﬁug:m
(1) J3 () 9 (3) -3 (4) None (8 »&2)

19. If the roots of a quadratic equation are p /g and g/ p. then the equation 18

p [ q ot q/ p SRS Saroes fo 35 SUstess 300 = Dar
(M gx? -iq? + p*)x-pg=0 (2) pax? -(p? +q*)x+ pg=0
(3) px?-(p? +Nxspn0 (@) p?x? <(p? -q°x-pg=0

20. The discriminant of vx2 +x+1=2 is
Jx? o xa )« 2 oo 35 Samets Gus, Sl

; ) 13 @ -3 @) 11 (4) None (38 &)

2.1 p qr.s t,uand vare in AP, then geresettus
P. Q. F S 1 uSDEn vetnl Ly oes B3 el geresetirus

5 2
M Spev) @ Zv-p) O 5P () None (2 )

SPACE FOR ROUGH WORK / ooyand fowoteds ot
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22. The sum of all natural numbers between 100 and 1000 which are multiples of 5 is
100 =se& 1000 23, fie 3ve Soz08' 5 Quy, Torlenoe J0s
4]

(1) 98450 (2) 99450 (3) 16450 (4) 94450

23. If a, b, ¢ are in AP and GP both, then which of the following is correct?
a, b, ¢ Gl cosBR6 W0y rddEtr soy. vond Bod TE D0 PBEN?

(1) a=brc [2) a+zb=¢ 3) a=b=c¢ (4) a»b=c

24. The sum of all odd integers between 2 and 100 those are divisible by 3 is
2 sood 100 Soi€' o 8% Yo Sesed’ 38 photoms Sopyo Joolt
(1) 767 (2) 467 (3) 567 (4) 867

28, The distance between the points (acos® + bsin®, 0) and (0, asinf = bcosb) is
(acos® + bsin®, 0) 23w (0, asin® - beosh) v Doloye S0l Lo

(1) a’ +b? 2) a+b (3) Va2 -b? 4) Va? +b?

0190 N o 1 B
26. A triangle formed by the points A(a, 0), B(-a, 0) and C(0, av3) is
Ala, 0), B{- a, 0) 2ta» C(0, aJ3) vt Deloyed DHAN Ofanw &I

(1) a right-angled triangle (2) an isosceles triangle
wous'n GtoEn® FOEPTY (QEoEIR

(3) an equilateral triangle (4) a scalene triangle
RRCTe S s et s OtoEte

27. The area of the quadrilateral whose vertices taken in order are (-4, -2), (-3, -3L(-3. -2)
and [2, 3) is —— sq. units.
B Bootnetar Y, IgDoo SRS amosnd' (-4, -2) (=3, =3) (-3, -2) =k (2, 3) o

SUE, & SBotpEiL Gk, TTOEY 5, P,
(1) 56 (2) 28 (3) 84 (4) None {2@__\ )

SPACE FOR ROUGH WORK / 252l Troaetads BoBy




28. If the points A(x, - 1), B(2, 1) and C(4, 5) are collinear, then x =
Alx, = 1) B(2, 1)30@w C(4, 5) v botoges Sbagd, x Devs =

(1 1 @ -1 3 0 ‘4 2

29. The perimeter of the triangle formed by the points (- a, 0), (a, 0) and (0, a) is
(=@, 0} (a, 0) 20 (0, a) ¥is Bossyed Duds tomian Du, Sws'ed

(1) 2a(1+J2) 2) a(2+2) (3) 2a(a+2) (4) Nome (24 mas)

30. If a line makes 60° with positive x-axis, then its slope is
5 S xogiad 60" Slene Sannss, ves o S oo, S

(m 1/J3 2) 1 13) 3 (4) -J3

3L In an isosceles triangle ABCWith AC « BC if AB? = 2AC?. then /C -
ABC w5 o3 080 Dottt AC « BC 2o AL 2AC?, wod /C =

(n 3o (2) 90 (3) 45° (4) 60

§ oma
(1) AQ% +CP? w2(Ac? s po?) (2) 2(AQ% + CP?) = AC? 4 po?

3) A0 +CP? w AC? , 2 (4) None (34 n)

mnx;mwm



33. A man gocs 24 m due west and then 7 m due north. How far is he from the starting point?

o8 B000 24 Do, BEB00 DY BED Mww T HATI. sond cbi pAbELS $oin Wod Job

(1) 31 m (%) (2) 25 m (%) (3) 26 m (%) @) 17 m (%)

In the above figure, if ZADE = ZABC, then CE =
® S0swé® ZADE = LABC, waas CE =

(1) 9/2 (2) 572 (3) 2/9 ) 4/9

35. If AABC ~ A DEF such that AB=9:1 cm and DE =6'S ¢m, and if the perimeter of ADEF is
25 cm, then the perimeter of AABC is

AABC 3tcis A DEF o 2o2 260 O¢ontaom, AB=9:1 Bo.bs, 20 DE = 65 Ho.t. Othesn
ADEF Q% Soepfhob 25 %00, wond (0eia AABC dul, SxuSod

(1) 37 em (Relo) (2) 36 em (o) (3) 35 cm (Rodo) (4) 34 cm (Bedd)
36. Q
- P

In the above figure, area of the segment PAQ is — sq. units
P Sutnd' PAQ @woz, Do —— O e

2 2 a? nz
a ﬂ - S —_—
() Z=(x+2) @) —(=x-2) B) —-(n-1) (@) Z-(x+1)

h___—-
SPACE FOR ROUGH WORK / 303303 Sumossesseds 3



37. A

B
R c
In the above figure, if AP » PB, then which of the following is correct?
B Suswé' AP = PB wonsd od 36" DO 0207

(1) AQ=CQ (2) AC=AB (3) AC= BC (4) AB= BC

38. The length of the tangent drawn from a point 8 cm away from the centre of a cirele of radius

6 cm is
6 o.2o. A Mo LY odoin Mol 8 o Saciad e wl Dofey mosd ol fwwds iy
=)
(1) 2J7 em (2) J7 em (3)- 10 em (4) 5 cm
2J7 o, J7 0.l RO To2.0. S 0
39. - A

In the above figure, two equal circles touch ecach other at T. If QP =45 cm, then QR
B Semonb’ Srdeds Tots M pEnees T 58 0ot . QP = 45 .t wwnd OR -

(1) 9 cm - (2) 18 cm (3) 15 em (4) 135 em
9 oo, 18 oo,

15 Zse.ma. 135 Tis.ms.

40. The parallelogram circumscribing a circle is a
LY SO0 Stotowsand' e cotdfonnds ol 1

(1) trapezium (2) square (3) rhombus (4) rectangle
SWoe RO & sooopas

m—

SPACE FOR ROUGH WORK / 003223 humawotuds jesas




41. The curved surface area of a ¢ ,
right : ; - 2 _
slant height? [Take = - 358 ) gt circular cone of radius 11:3 cm is 355 cm“. What is its
113

11-3 %eo.0. ?"?Mf#u?ﬂammmﬁmaﬁ 2.50.8. vond o0 Duses S0y
2e0? (m = ¥2% o S o2 ) )

() 8em (C=l) (2) 9 ¢em (els)  (3) 10 cm (o) (4 11 cm (Bels.)

42. Three solid spheres of gold whose radii are 1 ¢m, 6 cm and 8 cm respectively are melted into

a single sphere. Then the radius of the sphere is

1 0.0, 6 .y 2l 8 ok, TRO: Mo TN s ATEweDs 00D wY Dy Alttum o
jd:}l."d-u ulluw

(1) 7 By (2) 8 cm (3) 9 cm (4) 10 cm
730, 8 Ho.b. 9 0.k, 10 o.to.

43. A hemisphere of outer and inner radii 10 em and 6 cm respectively is moulded as a cylinder

of diameter 14 ¢m. Then the height of the cylinder = —— cm.
uﬁwu@tfﬁhﬂaﬁfb:ﬁumm-b:'u" s 10 et Tofdiny 6 bolo. A% 0ol 14 el
DRI 0 pORe LAl w 3SR 28y~ el

(1) 14 (2) 133 (3) 2:3 (4) None (58 »)

44. If x = asin® and y= bcosh, then bix? +~\:z:‘='1t,f:Llr =

x = asin® motaw y = beosd weass b?x? +a?y? =
m 1 (2) a?+b? (3) a? -b? (4) a?b?
45- 1 - t_ — =
1-s5inB  l+sinf
(1) 2tan?s (2) 2sec? @ (3) 2cosec?d (4) 2¢cot?
46. cotf + tan® =
(1) secBcosech (2) sec’® (3) cosBsin® (4) None (38 »)

b

SPACE FOR ROUGH WORK / 280333 Jorumoteds poiw



N W

;ll 3) wn*Actan’A ) l_lnne{lbm)
0 4 1

@) cos 125 (4) None (54 n)

of 3 m from a lamp post and casts a shadow of length
of the lamp post is

) 5. crcnant® Tend TR0, @ 008 B8 D 45 L. e
N - ® 2m Ul 06
2 5. 28 L,

K / Soysch fovwoteds Jeis

- . & o .



.\ﬂ. From the letters of the word
" vowel is

\ "MOBILE’ v aex

‘MOBILE", a letter is selected. The probability that the letter is a

YRS GERASS ARpostam 2Ny, U UL LY oty sibo fio Sogd

(n 1/3 (2) 3/7 (3) 1/6 4 1/2

R ST n" A s .,_ e

83. Which of the following cannot be the probability of an event?
O 300 6 Ly oy I O e

(1) 2/3 (2) 15% (3) -15 4) 07

L 1_-3';"7'.{'*-:'

84. A month is sclected at random in a year. The probability that it is March or October is
BOSDE' 13 T AR e o o w0 30 ofin elew Ko Sogwd

(m 1/12 (2) 1/6 (3) 3/4 (4) None (& »)

B5. A number x is chosen at random from the numbers -3, =2, =1, 0, 1, 2, 3. The probability
that |x] <2 is

=3, -2, -1, 0, 1, 2, 3 oo Jo50 ol X U0 Joppw CUNDHEST SwpS v, @ Begy [X| <2 oibes e
e

(1) 5/7 2 2/7 3) 3/7 @) 177

~ B6. The median of the marks scored by 50 students in a 50 marks’ test is
50 S0l Zaovgpon 50 ;ﬂ%uaﬁge‘bzgahmgmagléw.mﬁnﬁrW

Mark;

!'..'.J‘-'.'-:-_,w
S

1-10 11-20 | 21-30 31-40 41-50

No. of students 3 19 16 I14- g
(2o 3e3))
(1) 2575 (2) 2675 @) 2778 (4) None (:ﬁ:-:.:]
e e —
" SPACE FOR ROUGH WORK / -"UBW dumasoteds Pesw
:



Hmnmndhyl.umndbyﬂ.thirdhyj

- asats 2 35, 38 3635 3 30 v Loom BT I8, 5

3 x*ﬂ*:.—! (4) 2*1;—1
. 1o i S s W 4, 46, 16, 42, 26, 32, 28 is
6, 49, 14, 46, 16, 42, 26, 33, 28 BRap B, 25705
g A
n 30 - aal 3) 31 (4) None (24 nw)

89, 5’- g and -; when x > 0 If the median of the data is

Wl B v r Lol

(3) 3/A4 (1) 8

(2) middle most value



Ffse G, 81 suress

(1) J/K
o5 |3 " e
(3) J-kg/K
4) J/kg-K
A [ W) # r’;?m’--ﬁ

~ 62. The change of phase from liquid to gns that occurs at the surface of a liquid is called
LY 59 a30C000 L4, (Sho S HOurty Seto iah

(1) Tfllifr; (2) freezing (3) condensation . (4) evaporation
o e WSl Dodsoro Vil

~ 63. The final temperature of a mixture of 100 g of water at 30 *C temperature and 100 g of water
at 60 *C temperature is

30°C %t 100 .o Maby i 60°C 25 100 . Mde Soptse SHgss, u e Boosy, B8 A0
(1) 45°C (2) 70°C (3) 90°C (4) 130°C

64. The distance between the pole and the eentre of curvature of a concave mirror is called

PP S Gy, LD Lossgss 2ian 3o Somid ol o Srovy ety

(1) focal length (2) object distance
TR0 Uy &rve
(3) image distance (4) radius of curvature
< BOLon Lros | e e

65, If f and r be the angle of incidence and angle of reflection respectively, then which one of the
following conditions is correct when a light ray is reflected by a plane surface?

| Se0ctiss r oy S 308'me Dok 30 Fnie wwsd Te0liae LY S0oop DGR SAAYE
g0l nS* Do 0ane?

(1) i=r (2) i>r (3) 1<r (4) None of the above

et

-._W

SPACE FOR ROUGH WORK [ ~0gasl ool B




66. The scientist who proposed the idea that the light ray always travels the path of least time s
- - & A
PoOlome B3 Socie N 2ef’ il oo POdcen T
4) Raman
(1) Archimedes (2) Snell (3) Fermat (4) Ra n

r

5 2l :“ = oy

67. Which among the following is a dimensionless physical quantity?

B N Lo 85 COT M

(1) Power of lens (2) Radius of curvature
e s adl s

(3) Wavelength (4) Refractive index
Boe" 24 o whens roese

68. If n is the refractive index of a medium and v be the velocity of light in that medium, then
which one of the following statements is correct?

LY s St SPoSD rele N 2ol u wised! Pedlie v wead Bed A D8 NOEHAY

o

(1) I n is high, v is low. (2) 1f.n s hagh, v is also high,
nJEal wend vowa ASins wond v AT J3 D

(3) n=wfor all media. (4) n and v are independent of each other
g SN N = v N So0d 1 LIS D WSO uPNaILy

69. If ny and n; be the refractive indices of denser and rarer media respectively and C 15 the
eritical angle, then

fly T0Ew nyeo S0 DopBo BlEN Jocarire LAeus fommu 2 C 2680 Sme wund
] !“ -

n Yk :
(1) sinC= -1 ainC "2 (3) sinC- M 4 . [n2
n, g @ ny ) sin s (4) sinC ."I 3
70..The "Iﬂ'“u“ "ln“ “rhlﬂ. If the speed of light in vacuum is 3x 10® m/s, then the

e Sy s forste 3/2. W0t modre 3 10* L/ wossd rertt 100 41

A .ﬂﬁm anlo. m/s ﬁ-«r.llﬂ' m/a (3) 10" g
2x10" S/ ‘ __:_Ql 10* = [% 10" E;: “ ::: :E“ :T;q
%
71 The m““““m lens has, is
ﬂﬂiﬂ““h
LU 2 3 3) 2

“4) 1
_!\\>
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72. A virtual, erected image is formed when an object is placed on the principal axis of a convex

lens
3 SEY RePTIU Suto G, Be p O e 15 delupts Soem &% 20y S0Tone S5Est00?
(1) beyond the centre of curvature (2) at the centre of curvature
w3 Yoo uno o dogo 35
(3) between the centre of curvature {4) between focal point and optic centre
and focal point
70 doeil ot A 2, P03, & Sopid 25y

73. An image is formed at a distance of 60 cm from the centre of a convex lens when the object
distance is 30 cm. The focal length of the lens is

:m::.n.:..-..m&nm.hum:ﬂammmmmmummm
TEACBED

(1) 90 em (2) 20 cm (3) 2 cm (4) 005 ecm
90 Zwo.an. 20 .o, 2 et 0:05 mo.bs.

74. Read the following two statements and pick the correct option :

228 Tolo Iy DAL 30QWN AAgE, Jomus'ed

(a) The virtual image can be captured on a screen.
=3y BOlow, U Do,

(b) The real image can be captured on a screen.

a ROlecyy DS oIl

(1) Only (a) is true (2) Only (b) is true
(a) 2rDas esms (b) Srods Desa

(3) Both (a) and (b) are true (4) Both (a) and (b) are false
(a). (b) Se=> wend (a), (b) Toxr B2

76. The angle of vision for a healthy human being is about
wilnseton Hpustee msom
(1 10° (2) 30° (3) 60° (4) 90*

76. To correct one’s hypermetropia defect, the type of lens to be used is

8y SRS ' Do maSotenty TETONS Sule
(1) biconcave (2) biconvex (3) plano-concave (4) plano-convex
Srper o Sy e BB L0
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77. Which one among the following colours has the minimum angle of deviation?

e s Soe B 6% SO ‘
:: Red Blue (3) Green (4) th:;m
ey Sero oo ToT 3 G0l G

78. The formation of rainbow in the sky is due to the dispersion of sunlight by
26 pod m#mmagmpmm#m

(1) clouds (2) water droplets
RE-U-CCR M b Dodopew

(3) air molecules (4) water in the sea
L I szt Mo

79. Which one among the following quantitics has the unit dioptre?

B0 6 &8 gl 13 FRTRRY

(1) Accommodation of lens (2) Focal length of lens
W0 I Ys¥ PPEOTIR

(3) Power of lens (4) Refractive index
LT b':'a.:i ° :ﬁo‘-ﬂb roradeas

80. The product of potential difference and current gives

2opad Somotan 2exbo ogo 83 cnped?

(1) resistance (2) electric power
Hoge seob g

(3) electromotive force (4) specific resistance
S bes oo ad 2%y 2%

81. Read the following two statements and pick the correct answer :

Bol Tom TIE TAD OQUS MER Sestel
(a) Semiconductors obey the Ohm’s law.

| of oo LS Satuaty S,
(b) Metallic conductors obey the Ohm's law.
(1) Only (o) is true 2) O
(a) 2o Zezw Y m:;wa::::
(3) :}mhmm a:-d ﬂ are true (4) Both (a) and (b) are false
LR el (a), m’mm

H

pl Wt;ﬂ / @Ww




Bz- | 1
Which among the following materials have their resistivity of the order 10 t010'® - m?
300 &' 38 293 20w 10 202 10" Oom zow decon?

(1) Conductors (2) Semiconductors (3) Insulators (4) Al
vz e peyTe o

83. Three resistors each of value 30Q are connected in parallel combination. The equivalent
resistance is

20 154 30 Te ro 2o wndedd et Segte Iy, SN $L0 E'%e
(1) 27 Q 2) 920 3 3Q 4) 1Q

84. An electric bulb of 360 Q resistance is connected to a 6 V battery. The power consumption is
360 Q e o 238 vaxie 6 V Dbl im0, 60 IAMeS K MRege
() 01 W 2) 3 W 3) 2 W 4) 20 W

85. Which one among the following statements is true?
Ao T R Do 207
(1) Resistance of a conductor is independent of its length.
Tints QoY HBee DN DEYT LPTREL.
(2) Resistance of a conductor 18 directly proportional to its length.

otie o Dopnh siedoed’ dcwel.

(3) Resistance of a conductor is inversely proportional to its length.

m:ﬁ‘m:-;w:&*wm

(4) Resistance of a conductor is independent of its temperature.
e o GBIBT STTIEES.

86. Oersted is the unit of
welnl vl &53 smome

(1) magnetic field strength (2) magnetic Mux density

(3) magnetic pole strength (4) magnetic flux

oM HER0R

e ————————————————————— e ol
SPACE FOR ROUGH WORK [ 05338 Irusctads Jemw




- i which is placed
87. The magnetic force acting on a straight wire of length [ carrying a current! which is placec

perpendicular to the uniform magnetic field B is

Immﬁbﬁwimm,pzaﬁmmﬁﬁiwwwﬁ‘fﬁl_m
oo

(1) Byil (2) i/Bl (3) 1’8 (4) uB

88. The law which states that ‘an induced e.m.f. will appear in such a direction that it opposes
the change in its flux’ is

o s GrSanst vl e 308808 8vEt e 2508 BT doncd’ Ul JPBel?

(1) Faraday's law (2) Kirchhofl's loop law
P IS0 150% el oo
(3) Ohm's law (4) Lenz's law
LS Aaanse Sof oledee

89. 1 tesla = —

18> =—0

(1) 1 weber (2) 1 weber/metre?
1 265 1 2u6/5%2

(3) 1 watt/metre? (4) 1 coulomb
1 S fin? 1 xneed

90. In which among the following, the principle of electromagnetic induction is not
200 TNIEY DI el (MO0 ACHANG, ARAPAEY Aovndes A0
(1) In security check, where people are made to walk through a large upright coil of wire
BERDS Dol S50 Doves B 1y onged o 1o ey roee Sere Besee
(2) Working of tape recorder

(3) Working of an electric bulb
D5 won 30 Satond

(4) Working of ATM cards
ATM sdoes 3% Sataesst
I EEEEE——— — — — S —
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91.

93.

SECTION—III : CHEMISTRY

Oxidation reaction involves

whie 256 meso

(1) addition of H,  (2) removal of 0, (3) removal of H  (4) None
Hy%o soaasw 0, = dhdcazs H,y% ddanse Fk -t

The gascous mixture contains hydrogen and oxygen in the ratio of 1 : 8 by mass respectively.
The ratio of the number of molecules of hydrogen and oxygen in the above mixture "

o SoFoes’ Hy Solcns 0,0 @uy, (eiid sewm 18 voand, o Soyiusnd' acd pelell o
ehed ceuo T30 o

(1) 1:8 (2) 8:1 3) 1:2 4 2:1

Match the following :

R
Column—A Column—B
(a) C+05 —»CO,; +Q (ij Prevent rancidity
Lol o WMot
(b) Np+0, »2NO-Q (i) Alloy
2o S
[¢) Antoxidants {iii) Endothermic reaction
wed wlled, Axy 3%
(d) Stainless steel (iv) Exothermic reaction
ontth 56 ARSI oYy
(1) (a) (b) (c) E_dl
(i) (1) (i) ()
(2) (a) (b) €@ @
(iv) (1) () )
G @ 2 @ @
(iv) {aii) (" (®)
@ (@ (v) @ @



94. In the reaction 2PbO + C <+ 2Pb+CO,
2PBO + C =+ 2Pb+ CO, 358

(1) carbon is reduced (2) PLO is oxidized
Pl gauNen Sosse PHO whstes Soss

{3) PHO is reduced (4) PbO reduces carbon to CO;
PHO geoostese Jese PHO oo COpm JaRsmd Moot

98. Which one of the following statements is wrong for the chemical reaction A+ B=» Cif the
reactants and product are gaseous in state?

As B Cou shas sof famtre ian faremo sanjod' apd, o Sg® Jewelel o
$03 Tagwet’ Baycs age 307

(1) One litre of A combines with one litre of [ to give one litre of C
I 0 A w3 b B sedme D08, w3 b C oo,

(2) One mole of A combines with one mole of B to give one mole of C
W 308 A o3 28 B 3edie D00, o 28 C S,

{(3) One gram of A combines with one gram of H to give one gram of C
I S A LS e BT 3edme Sel, 1LY M C o,

4) One molecule of A combines with one molecule of B to give one molecule of C
HMAHMH’W-HM.L:MC:QM.

96. The volume of oxygen required for complete oxidation of 2 litres of methane at STP 1«
¥ &0 25w (STP) a8 2 b 585 1o wlhstms Toodd rools wlal aoadmmy

(1) 4 litres (2) 1225 litres (3) 1 hrre (4) 8 litres
4 b 1225 L. 1 b 8 b

’T-Mmﬂth following produces more number of OH jons?
e ol NE* Sm03 Seal' OH™ wammoess 4oue?

(1) HCl solution (2) CH,COOH solution
HCl oo CH3COOH gma

3) NH,OH solution (4) NaOH solution
NH,OH g NaOH S%ens

“__—_______——_-_
mmmuwnnu;:qauwm



98,
Which one of the following produces more number of H,0® jons?

99.

100.

101,

102.

103.

u'mm:bﬁwﬂaﬂ'm! .

(1) HCI i
i ioltdon (2) CH,COOH solution
(3) NaOH solution (4) Mg(OH); solution
NaOH gesan MgliOH), &SR
Which one of the following is a weak base?
200 6t oo PR
(1) KOH (2) NaOH (3) NH,OH (4) None of the above
e
Which of the following group elements are known as chalcogens?
S1 300 TS D pOy SaroTe O EIM Ge?
(1) 16 2) 6 (3) 1 @ 17
The number of electrons that are present in p-orbitals of CI~ ion is
Cl” warmodt p-udrbod’ 6l JoT2 B
(1] 6 2) S (3) 1 @) 12

The impossible set of quantum numbers for any electron of an atom is

Wb@m&wwm&ww

(1) n=21=) m =0 my=+% 2) n=2 l=2, m=-1, mg=-%

(3) nald =2 m=+) mg= +% 4) n=3 I=0, my = 0 my = =%

Elliptical orbits are introduced by

Aszpors How BONORD

(1} Bohr (2) Sommerfeld (3) Schridinger (4) Zeeman
2558 MNdoub PG
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— on of 0%~ ?
104. Which one of the following is the correct configuration 0
02" Quy, 3043 JoS Iy i B
(1 1s?2s22p* () 1s?2s?2p° (3) 1s%2s22p” [4) 1s72s72p
108. Where do Na and N belong?
Na 200 N o A% welole,
(1) s-block
s-125
(2) Na belongs to s-block and N belongs to d-block
Na s-250%0 2:00i N d-259%
(3) p-block
p-S
'{4| Na belongs to s-block and N belongs to p-block
Na s-2500 S8cin N p-iown
106. The atomic numbers of actinide series elements are
wimonk G Sarodo MNP oo
(1) 58 o 71 (2) 90 to 103 (3) 92 to 105 (4) 60 to 73
107. The order of second ionization energy values of O and N is
O 3o%n No G, Teid wcniUe 1 i
(1) O>N (2) N>O
(3) O=N (4) IE5 is less than lE,

IE, %8 [E, oxam dolai

108. Generally the order of clectronegativity in groups

(6 BRORERTOIO S MU

(1) decreases (2) increcases
DI UL

(3) remains same (4) initially decreases and then increases
RIS Dexas ON B0 Wlorm

109. Which one of the following is not an ionic compound?
dod TE* LYy ST PR
(1) NaF (2) NaCl (3) MgO (4) NH,
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110.

111.

112,

113.

114.

The molecule wit . -
atom with h two bond pairs in two covalent bonds around the nucleus of the central
out any lone pair in the valence shell is

:m:‘ o v - o L Vg et ll
Bl ReSed’ Loly DLSewy domiii Sowp SO qﬁ‘mmm—g ooy (o, teed SO
eas O venl .

(1] BeCl, (2) BF, (3) NHa (4) CH,

The molecules with decreasing order of bond angles arc

welsieia E?n f.“m‘:a::ﬂ‘ (L LN
(1) BF;, NH4, H,0, CH, (2) BeCly, BF;, CHa, NHy

(3) BCl,, Hy0. NHy, CH, (4) BeCly, H0, NHa, CH4

Which one of the following is wrong in case of NaCl crystal?
NaCl 2adx S3giood® 1 205 =08 Do Bay?
(1) It does not conduct electricity in agqueous state

20 soowe 308" Mid ST RS ST

(2) It is soluble 1n water

*““:_6‘ N

(3] The coordination number of C1™in NaCl crystal 15 6
NaCl mavedt C1 - G, 3ot Sox; 6 '

(4) Itis a face- centered cubic crystal
& moon Sosy el Soeny SOh astow

Which of the following 1s used as reducing agent in metallurgical process?

S T ey

KMnOy4 (4) None of the above

(1) Coke (2) O, (3)
Ei:u:-:a

The metal which do not displace hydrogen from dil. HCI is
2bs HCI ool Hyio 2eame S0 Ehpan

(1) Zn (2) Mg (3) Cu (4) Fe
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115, Generally metallic oxides are converted into metals by

Jvesem e o Eeo Shrteom ___ SO0 BOES.

(1) roasting (2) calcination (3) oxidation
L0 S0 e

(4) reduction
;ﬁﬂm

116. The reducing agent used to join railings of railway tracks 1s

28, erE6%D Bew Mepeisd :u.-.:g;;u:f.: =8 Homsted
None of the abo
(1) Al (2) CO3 (3) S0, (4) ) fﬁ s ve

117. The bond angle (H—C—H) in CHy is
CoH,. & (H—C—H) sogfios
(1) 109° 28’ (2) 180 (3) 104°27° (4) 120°

118. The general formula of alcohol is
e HAE Qoo PFoe: FUT
(1) (CaHa, . JOH (2) (CnHsoy, . )NH; (3Y i€, Hs, . JICHO (4] (CnHap +1)20

119. If a carbon compound has many functional groups, then the order of preference while

naming it according to IJUPAC nomenclature is
e85 %0 3 shewed s gl mwornuveyS, IUPAC Sete s o e
BlogioRtarifon 35y PRI (B

(1) CONH,> CHO> NH,>—COOH (2) —COOH > CONH,>CHO > NH,
(3) —CHO > CONH, > COOH > NH, (4] COOH > CHO > NH,>—CONH,

120. The IUPAC name of NH,—CH,—CHOH—CH,; — COOH is
NHo —CH, —CHOH—CH; — COOH &, ITUPAC Tietes

(1) l -amino-2-hydroxvbutanoic acid (2] 3-hydroxy-4-aminobutenoic acid
5‘ 2-*.:_ ] ﬁ-\-_c't-.-ﬂwf: L-:.-.-:-:‘-.r 3‘%&;-4-@?51)5-3?@5 L55a5)
(3] 4-amino-3-hvdroxvbutanoic acid (4) l-amino-3-hvdroxvbutvric acid
4-5%55—3—#:I=5'-mm~ U-.n.-ﬂ h::-:.-.-,- 1-@’-’{.‘_?-3-%;;‘5:::&5535 BN sy
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